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Nrtc "-- Ansrvers nrav be u'ritten eirhcr irr E'glish rrr in t{indi;
but thc- sante rnediunt should be used throuqhout the
pal)er.

ffi : {s lvr-Trr q-i TrR eiffi qr R.* ffi qfi- qlqr
ri dfuq; A[*-t q$ sr{i ft-r :ru+q q*. Ei +{rqRqr

;\'o1c i The ntaxintum r.ltarks printed on the question paper are
applicable fbr the students of the regular colleges
(Cat. 'A'). These marks rvill. horvever, be scaied up
proportionrtell in respecl ol'tlrr-' sludenrs of SOL ar the
time of posting of arvards fbr compilation of result.

Attentpt any f ive questions.

.1// questions carrv equal ntarks

sti qiq er{ qitqq 
I

{S q*ii * 3iq. qqn t I

(a) Explain the product method of measuring national income.

(b) Distinguish berrveen real and nonrinal GDp. g.7

(eil n*q 3ilzr qFFT qfi r-erE ffirr s1 qrcqr q?fuqr

(s) qTKRq. q qi*Filfi cDp * Etq eidi qtfua 
I
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Explain the concept of consumption function' Discttss the

relationship among APC. APS' MPC and MPS in case of a linear

consumPtion function. l5

sqtfrrr sq{ 41 sdqtrrufl dt qEr{r{q I tfrq sqr}q rncc

q1f{p{fr ii npc. APS, MPC q MPS * eiq daiq *1qr€ql

q1iqq I

What is multiplier ? Discuss the relationship between

investment multiplier and marginal propensity to consume

using suitable examPles'

Explain how the equilibrium level of incotne is determined

in a two-sector economy using Saving-lnvestment

{a)

(b)

approach.

(ea) TUr*. fil t ? wg6 sqr€{ut

9,6

*1 sor+ar t Frful

IurEF s *qid 3qrtq r{ff, * de {aiq e1 qreqr

qfrfqq I

(q) qq{r{q fo qqc-fq*vr iqfq sT 3q+'r q'cd qq

G-tfq erdq+*qr f {qq qfq 
"FT 

qq 61 $rt

frtliR" t*,qr enr t ?
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4. (a) What is Net Export function ? Explain the factors that

cause a shift in this f'unction'

(b) Calculate equilibriunr level of income from the fbllowing

data :

c : 150 + 0.75 Yd

I = Rs' 100 crores

C : Rs' 150 crores

T : Rs. 200 crores 8'7

(e{) E'g fiqia qec 6FJI t ? gsti fusfi-q * 6l-tEii

e1 qreqr frifqq I

(E) tmfqFon 3li'q,-si n 3{r{T sT qrq wi f,rf,

qltqq :

c : 150 + 0.75 Y,

I : Rs. 100 crores

G : Rs. l5Qrores

' T : Rs' 200 crores

5. (a) What is Macro-economic equilibrium ? Show its graphical

derivation'

(b) What are Aggregate supply shocks ? How do they affect

the Price level and real GDP' 69
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(eT) ITqfurrd 3ilf*E4" erq e+r t
dr wiqq r

t2l0

? ?€-6 fu-f,qq iqrrtTrT

7.

(e) ETTRIa gfti *p61qr t Z qE qtqd K{ q qmh"fr

cop qT tt eqlfzm anot t' ?

Criticalll.' eritntine cluantitl theorl' of mone)'. i5

5n 4' q'ftqq Frdid qtr oTlaird{rrm awiffi qtfqq 
r

Derive the lS-l-M ctlrvcs. Whilt happens to equilibritrrll CDP ancj

rate of interest rvhen lS curve shifis to lett ? r5

rs-LNr qfiiqT ftqiq sifsq I qcl IS qfi dri 3iT fs€q.-dl

t, dl qpq cDP q a{M E{ q{ FIT gqrq ErdT t ?

Write slrort notes on any tl;''t) of the fbllorving : '7.5.,7.5

(i) Ralarrce ot' payntents

(ii) Credit creation

(iil) l,iquiditl trap

(nJ Inflationar.v gap.

firqffid i t md d w df,eln' ftqufr fnfisq :

(i) STrifIq rigil-{

(ii) qrs vs{
(lli) dffrdi qTI

(,'r,y wfrffii 3idil-f, |
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